XWV
o HANSAVFLEX

]

BO1-3  OKEARGERR sw

BEER1-3 20M8 A |
ERER TR R TR LA T
EBEE  mEEEES g ey
fesmm BE(THHRARE R ER) v gl

R$ 2| _, BT

REREF  @AR ' -

7R

BRZER. FA, ENAENATHTHERENHATESHERRERNERER,

iR
BN TG AR — DR

&R

XWV NW 06 HL L PN 160 8 M14x1.5 4,5 14,0 21 14
XWV NW 08 HL L PN 160 10 M16x 1.5 6,0 15,0 22 17
XWV NW 10 HL L PN 160 12 M18x 1.5 7,5 17,0 24 19
XWV NW 13 HL L PN 160 15 M22x 1.5 10,0 21,0 28 19
XWV NW 03 HS S PN 400 6 M14x1.5 3,0 16,0 24 14
XWV NW 04 HS S PN 400 8 M16x 1.5 4,5 17,0 24 17
XWV NW 06 HS S PN 400 10 M18x 1.5 6,0 17,5 25 19
XWV NW 13 HS S PN 400 16 M24x1.5 7,5 21,5 30 22
GHRILL=FER L=R S=E - PN=HiEESH PB=JAI{ESN - gd2=BEHER

FREE

WV HEiE RS THIRESNARNEE

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
23.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



